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INSTRUCTION TO CANDIDATES

· Write your name and index number in the spaces provided above

· This paper consists of Two sections A and B.

· Answer ALL questions in section A.
· .Answer question 16(compulsory) and any other THREE questions from section B.
· All answers should be written in the spaces provided on the question paper.
FOR OFFICIAL USE ONLY

	SECTION
	QUESTIONS
	CANDIDATES SCORE

	A
	1-15
	

	B
	16
	

	
	17
	

	
	18
	

	
	19
	

	
	20
	

	TOTAL SCORE
	


This paper consists of 9  printed pages. Candidates should check the question paper to ensure that all pages are printed as indicated and no questions are missing
SECTION A 

(40MKS)

Answer ALL the questions in this section in the spaces provided

1.
State two functions of the arithmetic and logic unit of the computer 


      (2mks) 


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….

……………………………………………………………………………………………………….


……………………………………………………………………………………………………….

2.
Outline two factors to consider when purchasing computer hardware and software resources   (1mk )


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….

……………………………………………………………………………………………………….


……………………………………………………………………………………………………….

3.
State two disadvantages of magnetic tapes over compact disks 



       (2mks) 
……………………………………………………………………………………………………….


……………………………………………………………………………………………………….

……………………………………………………………………………………………………….


……………………………………………………………………………………………………….

4.
Differentiate between data security and data privacy 




     (2mks) 


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….

5.
a)
Highlight four limitations of networking





    (2mks) 


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….


b)
State four functions of network operating systems giving two examples 

    (4mks) 


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….

6.
State and explain any two computer crimes






    (2mks) 


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….

7.
a)
Differentiate between buffers and registers with reference to special purpose memories 2mks)   


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….


b)
Briefly describe two types of registers.





(1mk) 


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….

8.
List four features of a word processor






(2mks) 


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….

9.
a)
Differentiate between the process of moving text and copying text


(2mks) 


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….


b)
A student saved a document in My Documents; briefly describe how he would transfer this 
document to a new location named my Computer




(2mks) 


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….

……………………………………………………………………………………………………….


……………………………………………………………………………………………………….

10.
a)
With reference to spreadsheets, differentiate between a range and a cell.

(1mk) 


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….


b)
Convert the formula = Sum (F11: H20) into its absolute form 


(1mk) 

11.
a)
Define the term ‘search engine’ giving two examples 



(2mks) 


……………………………………………………………………………………………………….


……………………………………………………………………………………………………… 

……………………………………………………………………………………………………….


……………………………………………………………………………………………………….

b) Below is an e-mail address 

jacoboloo@yahoo.com. Briefly explain what each component of the address means.    











(1½mks) 


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….

12.
a)
What is normalization with reference to database?




(1mk) 

……………………………………………………………………………………………………….


b)
Outline two circumstances under which it is necessary to filter rather than query 

records in a database.








(2mks)

……………………………………………………………………………………………………….


……………………………………………………………………………………………………….

……………………………………………………………………………………………………….


……………………………………………………………………………………………………….

13.
State the importance of the following in desktop publishing;



(1½mk) 

a)
Rulers 


……………………………………………………………………………………………………….


b)
Document set up 


……………………………………………………………………………………………………….

c) Master pages 


……………………………………………………………………………………………………….

14.
Explain the control structures given below;


a)
Iteration 


……………………………………………………………………………………………………….


b)
Selection 


……………………………………………………………………………………………………….


c)
Sequence 


………………………………………………………………………………………………………..

15.
a)
Differentiate between soft system and hard systems.




(2mks) 


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….


b)
List two characteristic features of soft systems




(1mk) 

……………………………………………………………………………………………………….


……………………………………………………………………………………………………….

SECTION B: (60MARKS)

Answer question 16(compulsory) and any other three questions from this section in the spaces provided

16.
a)
Explain any three differences between interpreters and compilers 


(3mks) 


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….

b) Given below is a sample program written in a low level language 

SUB BL, 75

ADD BL, 22

MOV BL, 30

i)
Identify the language used in (b) above and specify whether it is  high level or low level language









(1mk) 


……………………………………………………………………………………………………….


ii)
Define the term modularization as applied in programming 



(1mk) 


……………………………………………………………………………………………………….


iii)
Briefly explain what each line of code in 16(b) above means.


(3mks) 


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….
c)
State and explain the two types of errors that may be encountered during program testing
and 
debugging phase 








(2mks) 


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….

d)
The following grading system was used to rank students in a joint evaluation test, based on the averages as shown

80-100 A

70-79 B

60-69 C

50-59 D

40-49 E

Using the CASE construct, represent the above information with the aid of both a pseudocode and a flowchart.




Pseudocode 









(3mks)



Flowchart extract








(4mks) 

17.
a)
Differentiate between the terms workbook and worksheet



(2mks) 


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….


ii)
A part from when saving a workbook for the very first time, state other two situations 

when it is advisable to use the save as command.




(2mks) 

……………………………………………………………………………………………………….


……………………………………………………………………………………………………….


b)
State four categories of inbuilt functions in Microsoft excel giving an example of each.













(4mks) 


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….


c)
A family business earned Ksh. 2,000 on Monday, Ksh. 3,000 on Tuesday, Ksh. 1,000 on 
Wednesday, Ksh. 3,500 on Thursday and Ksh. 6,000 on Friday. The expenditure over the

 same period was Ksh. 1,500 on Monday and Ksh. 500 on Tuesday. There was no 
expenditure the rest of the week. 


i) Design a spreadsheet to calculate the profit per day




(3mks) 


ii)
State the expression that would be used to obtain:




(2mks) 

a) The maximum profit for the week 

b) The minimum profit for the week 

c) The total profit for the week 

d) The highest income during the week 

d)
The grading system below was used to assign grades to a list of students based on their mean scores.


80-100        A


60-79
        B


40-59          C


Below 40    F

Assuming that the first mean score is in cell B3, write a function that would be used to assign grades to the students based on their mean scores. 




(2mks)
18.
a)
i)
Define the term teleworking.






(1mk) 


……………………………………………………………………………………………………….



ii)
State two disadvantages of 18(a) (i) above.




(2mks) 


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….


b)
State and explain the main components of an expert system. 


(6mks) 


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….

……………………………………………………………………………………………………….


……………………………………………………………………………………………………….

……………………………………………………………………………………………………….


……………………………………………………………………………………………………….


c)
i)
Banda, a form three computer student at Maseno school has developed a habit of 
sitting on the computer for seven hours a day and each time, he always wants his eyes to be as 
close to the screen as possible. He has been advised by his teacher against this practice on 
several occasions. He has currently been complaining of double vision. What disease could he 
be suffering from?








(1mk) 


……………………………………………………………………………………………………….


ii)
State two other symptoms associated with the condition as stated in c (i) above 
(1mk) 


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….


d)
Differentiate between job replacement and job displacement 


(1mk) 


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….


e)
i)
Define the term automated manufacturing 




(1mk)


……………………………………………………………………………………………………….



ii) 
State two disadvantages of automated manufacturing 


(1mk) 


……………………………………………………………………………………………………….

19.
a)
State two advantages and two disadvantages of the ring network topology 



Advantage









(2mks) 


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….



Disadvantages









(2mks) 


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….

b)
State two roles and responsibilities of each of the following ICT professionals 



i)
Webmaster 








(2mks)


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….



ii)
Network Administrator






(2mks) 

……………………………………………………………………………………………………….


……………………………………………………………………………………………………….


iii)
Computer scientists 







(2mks)


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….


iv)
System Administrator







(2mks) 


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….



v)
Software Engineer 







(2mks) 


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….


c)
Explain the term accreditation as used in education




(1mk) 


……………………………………………………………………………………………………….

20.
a)
State two reasons for the use of binary in digital technology.


(2mks) 

……………………………………………………………………………………………………….


……………………………………………………………………………………………………….


b)
Explain three coding schemes commonly used in symbolic representation of data.
(3mks) 


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….


……………………………………………………………………………………………………….

c)
Convert the following binary numbers to their denary equivalents;



i)
111010.01112








(2mks) 



ii)
110111011.112 given that the left most digit here denotes a sign bit.
(2mks) 


d)
Perform the following binary operations





 



i)
11101 + 10110 – 1101






(1mk)



ii)
11001 – 1010








(1mk) 


e)
Using two’s complement, work out 3510 – 1710, giving your answer in decimal notation 













(4mks) 
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